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=1 3| 212080[20% HESH (BB F)+: 5
=1 4|  212082|EOR HESH (BB F)+5R 5
=1 5| 212113|5RO% HWEAR(BERE B)+HEE
=1 6| 212186|F 0% HESH(BRE T+
B5_1C 7| 212230|BRO%E WESR (B B )+ EE
51 8| 212260|@O% WESR (R B 1) +REE
=1 9| 212266|=04t HESH(BRE F)+5: 5
=1 11| 211032|EEO=Z2 HESH(BRE F)+5: 5
=1 13| 211051|ZFO& HESH(BRE F)+5: 5
51 14|  211058|3R Ok WESR (R B 1) +REE
51 15| 211063|EO1E WESR (R B 1) +REE
51 17| 211093|Z=0% WESR (R B 1) +REE
B5_1C 18| 211097|M O WESH (BRI B ) +REE
B5_1C 19| 211100[;£0O75 WESR (B R B ) +REE
B5_1C 22| 211147\ O8&) WESR (B R B ) +REE
B5_1C 23| 2111997XO=F WEAR(H =Y B)+HEE
B5_1C 24 211201|BONK WEAR(H =Y B)+HEE
B5_1C 26| 211217|EEO=F WEAR(H =Y B)+HEE
B5_1C 27| 211233|EFO0F WESR (B R B ) +REE
B5_1C 28| 211239|#O% WEAR(H =Y B)+HEE
B5_1C 29| 211248[3RO WEAR(H =Y B)+HEE
B_1C 30 211272|ZF O HESH (BRE T )+5:
5_1C 32| 211285[3RO#) WEAR (B = B)+REE
5_1C 33| 211289|=03h WEAR(H = B)+REE
5_1C 34| 211293} O= WESH (B EE B r)+REE
B5_%& 2| 212038|HOfF WESR (B =G B r)+REE
5% 3|  212041|BEOER WESR (B =G B t)+REE
5% 4l 21207730 WEAR (B = B)+REE
5% 6| 212157|FOE WEAR(H = B)+REE
5% 71 212187|20% WESR (B =G B t)+REE
5% 8| 212193|#H O WESR (B =G B ) +REE
5% 9| 212261|#O&E WESH (B =GB t)+REE
5% 10| 211014|20% WESH (B =GB t)+REE
5% 14| 211052|# O WESR (B =G B r)+REE
5% 17| 211096|#O%& WESH(HEE B ) +REE




5% 18| 120735|3EOF HESH(BEEBEH)+REE
5% 20 211109|Z2O=E WEAR (B F)+=5E

5_% 21| 211144|2E0OF HESRH(ER BB )+REE
5% 22| 211165|# O HESH(BEHBEH)+REE
5% 24 211173|EOB HESH(BEHBEH)+=IE
5_% 25| 211197|FOf## WEAR(BIREB)+=EE

B_% 26| 211208|FO&F HEAR(BREH)+RIE

5% 27 211209|fRO= HESR(BEH BEH)+REE
5% 29| 211216|EOZE HWEAR (B F)+=5E

5% 30| 2112373801 HESR(BEH BEH)+REE
5% 31 211244|3550%) HESH(BEH BEH)+REE
5% 32| 211252|O5E HESR(BEH BEH)+REE
5% 33| 211280}#O& HWEAR (B F)+=5E

5% 34 211286|380O18 HESR(BEE BEH)+REE
5_18 1|  212001|ZF=0fE HESR(FEEBEM)+REE
5_18 2| 212008|=045 HESR(BEEEH)+RE
5_18 3| 212045|E0OF HESR(BEHBH)+RIE
5_18 4  212076|# O W HESR(BEHBH)+RIE
5_18 5| 212081|=01h HESR(BEEEM)+RIE
5_18 7| 2121912 O HESR(BEEEM)+RIE
5_18 8| 212265|OZ HESR(BEEEH)+RE
5_18 9| 212269|ZF0% HESR(BEEEH)+RE
5_18 10| 211016|ZF0Z% HESR(BEHBH)+RIE
52 11|  211017|%O1E H]EST(HEE B L) +REE
5_18 12| 211019/ 03 HESR(BREBH)+RIE
5_18 17| 211091|20OE HESR(BREBH)+RIE
5_18 18| 211102|F 0% HESR(BREBH)+RIE
5_18 20 211132[52O04m HESH(BREBH)+RIE
5_18 21| 211133|355 05 HESH(BREBH)+RIE
5_18 23| 211140[;Z0% HESR(BREBEH)+RIE
5_18 24| 211141|%B0% HESR(BREBH)+RIE
5_18 25| 211167|EOH HESR(BREBH)+RIE
5_18 26| 211196|FO% HESR(BREBH)+RIE
5_18 27 211211|O& HESH(BREBH)+RIE
5_f 28| 211215|8101@ HWESR(BERE B L) +REE
5_18 30| 211242i#O0O= HESR(BREBM)+RIE
5_f 32| 211269|54O%E HWESR(BRE B L) +=EE
=5_18 33| 211271|%0%4 WEAR (BRI B)+RE

=5_8 1| 212005\ O HESH(BEREBH)+RIE
=5_8 2| 212039|MO# HESH(BREBH)+RIE
=5_8 3| 212040[#0ME HESH(BEREBH)+RIE
=2_& 4 212042|O% HESH(BEREBH)+RIE
=5_8 5| 212044|2I0& HESH(BEREBH)+RIE
=5_8 6| 212078|3EO#E eI (EE SSER Ry
=5_8 7 212115|@O= eI (EE SRRy
58 8| 212120|8 O WESR(BlRE B L)+REE




5_& 9| 212150|#O%E HESH(BEEBEH)+REE
5_& 10| 212268|FEO%H% HESH(FEHBEH)+REE
5_8 11| 211020|H0O% WEAR (B F)+= 5

5_& 12| 211047|EO18 HESH(BEHBEH)+REE
5_& 13| 211064|EO1S HESH(BEHBEH)+=IE
5_& 14| 211071|EOI& HESH(BEH BEH)+REE
5_& 17| 211098|# O % HESR(BEH BEH)+REE
5_& 18| 211099[;#O% HESR(BEH BEH)+REE
5_& 19| 211101|#HOZ HESR(BEE BEH)+REE
5_& 20| 211105|FFO%# HESR(BEH BEH)+REE
5_& 21| 211106|fEOE HESH(BEH BEH)+REE
5_& 22| 211110|X0& HWEAR (B F)+=5E

5_& 23| 211125|=2 0O HESR(BEH BEH)+REE
58 24| 211137|zFOHE, WEAR (BRI B)+RIE

5_8 27| 211158|FO =& HWEAR(BIREE)+=EE

5_& 28| 21117480 WEAR(BEEE)+=EE

5_& 29| 211184z OA] HESH(BEHBH)+RIE
5_& 30| 211204|3EO =% HESH(BEHBH)+RIE
5_& 31| 211232|E£O= HESH(BEHBH)+RIE
5_& 32| 211241|6ROH HESH(BEHBH)+RIE
5_& 33| 211294|zE0OE HESH(BEHBH)+RIE
s5_1= 1|  212004}£0O% HESR(BEEEH)+RE
s5_1= 2| 212156|EO0= WEAR (= E)+=EE

s5_1= 3| 212229| O HESR(BEEEM)+RIE
s5_1f= 4 212264|E OB HESR(BREBH)+RIE
s5_1f= 5| 211013| =20 HESR(BREBH)+RIE
s5_1f= 6| 211026|=0% MEAR (BB ) +oR 02

s5_1f= 8| 211048|=O0OME HESH(BREBH)+RIE
s5_1f= 9| 211053|O4 HESH(BREBH)+RIE
s5_1f= 10| 211055[3#0#H HESR(BREBEH)+RIE
s5_1f= 11| 211056[3# 08 HESR(BREBH)+RIE
s5_1f= 14| 211092| =2 Off HESR(BREBH)+RIE
s5_1f= 15| 211122|HO=N HESR(BREBH)+RIE
s5_1f= 19| 211171|=0%& WEAR (BB )+ 082

a5_1E 21| 211179|EOF WEAR(B=E B)+5EEE

SR 24 211218|ZFO Mk HESR(BREBM)+RIE
SR 25| 211219|E 0= HESR(BREBM)+RIE
a5_1E 27 211221|8EO% WEAR(BREB)+EEE

SR 28| 211235|2035= HESR(BREBM)+RIE
SR 29| 211236|Z 0% HESR(BREBM)+RIE
SR 30| 211238|# Oz WEAR(B=EH)+=E

s_1E 32| 211247|3E08 HESR(BREBM)+RIE
SR 33| 211253|EOF HESR(BREBM)+RIE
SR H 34| 211254|=0% WEAR(BH=EE)+=E

SR H 35| 211259|#H O WEAR(B=EE)+=E

SR H 371 211276|2OZ RESR(BE B B ) +55 52




a5_1f 38| 211278[}# O WEAR (B F)+=5E
a5_1f 39| 211281|% Ok HESH(FEH BEH)+REE
a5_1f 40 211284|50%3 HESH(FEHBEH)+RIE
a5_1f 41  211296|ERO#) HESH(FEH BEH)+REE
a5_1f 42|  211208|20% WEAR (=R F)+=5E
a8 1| 212188|R2O%H HESH(BEH BEH)+REE
a8 2| 212225|ZF0%# HESR(BEH BEH)+REE
5_8 4| 211011|FOzE HWEAR(BIREB)+=EE
a8 5| 211012|F 0% HESR(BEE BEH)+REE
a8 6| 211018|%0OR WEAR (B H)+=5E
a8 71 211021|5RO% HESH(BEH BEH)+REE
a8 8| 211024|EO=F HESR(BEH BEH)+REE
a8 10| 211030|8IO HWEAR (B F)+=5E
a8 12| 211034|EEOXK HESR(BEE BEH)+REE
a8 13| 211036|EFO* HESR(BEH BEH)+REE
B_& 15| 211054|6B8O& HESH(BEHBH)+RIE
B_& 19| 211087|20E& WEAR (BB 1)+
B_& 20| 211088|%=Of¢% HESH(BEHBH)+RIE
B_& 21| 211108|2O1E HESH(BEHBH)+RIE
B_& 22| 211121501 HESH(BEHBH)+RIE
B_& 23| 211138|3FO 7T WEAR(BEEE)+=EE
B_& 24 211160/ O%k WEAR(BEEH)+=EE
B_& 25| 211172|=0%E WEAR(BEEE)+=EE
B_& 26| 211180|EOZ WEAR (BB 1)+ 255
s5_& 27| 211183|HOlg WEAR(BIREB)+RE
B8 28] 211195(FO HESH(BREBH)+RIE
B8 29| 211240(#Ofh HEAR(B=EE)+=E
B8 30 211243|FEOC HEAR(BREE)+=IE
B8 31| 211245|EO0% HESH(BREBH)+RIE
B8 32| 211250[FFO% HEAR(B=EE)+=E
B8 33| 211255|F O HESR(BREBH)+RIE
B8 34| 211258|2EOF HEAR(BREE)+=IE
B8 35| 21127408 HESR(BREBH)+RIE
B8 36| 211278[O= HEAR(BREE)+=IE
a2_& 37 211283|50# HESH(BRB B )+5: 58
a2_& 38 211290[;207% HESH(BRB F)+5: 5
a2_& 39| 211291|EO#7 WEAR(BERE B)+EEE
B_=& 40| 211292|EO## WEAR(BERE B)+EEE
a2_& 41| 211023|3RO % HESH(BRB F)+5: 5
5 1} 212007|E O WEAR (g rL)+2 52
5 2| 212075\ O WEAR (B g rL)+2 52
5_F 3| 212116|=0fF HEAR (B ) +R 52
5_F 4 212118|B10% HEAR (B ) +R 52
a_F 5 2121533 Ok WEARN (B =B L)+ 2252
5_Z 6| 212154|%F Ok WEAR (B g rL)+0R5E
S 7  212190|EO%H HEAR (B ) +R 52




5= 8| 212224|F O WEAR (B = Brt)+ 2152
5= 9| 212226|#HO% WEAR (B = Ert)+ 152
a_F 10| 212227|# O HEAR (BB )+ 502
5= 11| 212231|EEO%= WEAR (B = Ert)+ 152
5= 12| 212263|E3OH WEAR (B = Ert)+ 152
5_= 13| 211010|FO= WEAR (B =Bkt + 152
5_= 15| 211049|Z=OHA WEAR (B =Bkt + 2152
5_= 16| 211059|#OF WEAR (B =Bkt + 152
5_= 18| 211070|EOR WEAR (B = Ert)+ 2152
5_= 19| 211107|EZO0&E WEAR (B =Bkt + 2152
5_= 20| 211127|Z0%H WEAR (B =Bkt + 152
5_= 22| 211136|FR 0O WEAR (B =Bkt + 2152
5_= 23|  211143|8|0& WEAR (B = Ert)+ 152
5_= 24| 211148|EEOE WEAR (B = Ert)+ 2152
5_= 25| 211163|Z0ORE WEAR (B = Ert)+ 152
5= 26| 211164501 REAR (B = ErT)+ 2152
5= 27| 2111702 OfR RESH(BEE B t)+REE
5= 28| 211175|2103H REAR (B = ErT)+ 2152
5= 29| 211198|20=% REAR (B = ErT)+ 2152
5= 31| 211202|# O REAR (B = ErT)+ 2152
5= 32| 211222|#% O REAR (B = Brt)+ 2152
5= 33| 211251|F#F O REAR (B = ErT)+ 2152
5= 35| 211287|OE REAR (B = ErT)+ 2152
5= 36| 211288|FEO REAR (B = ErT)+ 2152
S 37| 212228|x O REAR (B = Brt)+ 2152
S 38| 211033|2E0O= REAR (B = Brt)+ 2152
S 40 211066|=Z0 & REAR (B = Brt)+ 2152
S 1| 212006|fEOfR REAR (B =B rt)+ 252
S 2| 212009|BI0% REAR (B =B rt)+ 252
S 3|  212043|#OMR REAR (B = Brt)+ 2152
S 4l  212112|ERO& REAR (B = Brt)+ 2152
S 6| 212117|=0% REAR (B = Brt)+ 2152
S 8| 212151|#O% REAR (B = Brt)+ 2152
S 9| 212194580 REAR (B =B rt)+ 252
= _A 10| 212223|F 05 WEARN (B =B+ 2
5_f 11| 212262|#O&E HEAR (BB )+ =82
= _A 12| 212267|20% WEAR (B =B+ 2
S_#0 13| 211022|38 O HEAR (B =B )+ =82
5_f 14| 21106750 HEAR (BB )+ =82
5_f 15| 211095|FO4% HEAR (B =B )+ =82
5_f 17| 211128|Z0% HEAR (BB )+ =52
5_f 18| 211129|%O% HEAR (BB )+ =82
= _A 19| 211131)ROFE WEAR (B B+ 2
S_#0 20| 211142|B10%% HEAR(BE=E ) +R 52
5_f 21| 211159 O HEAR(BE=E ) +R 52
= A 22| 211162|F0O& WEARN (B =B+ 52




S 23| 211168[0O WEAR (B = Ert)+ K52
S5 24| 211169 =3 WEAR (B = Ert)+ K52
S 25| 211176|ZEOH WEAR (B Ert)+ K52
S5 26| 211177|HO= WEAR (B = Brt)+ K52
S| 27| 211182|FEOh MEAR (B = Ert)+ K52
S5_ 28| 211185|EEOHE WEAR (B = Ert)+ K52
S5_ 29 211203[#O%E WEAR (B =Bkt + 152
S5_ 31| 211206|3 0= WEAR (B = Ert)+ 152
S5_ 33| 211249|3 O MEAR (B =Bkt + 152
S5_ 35| 211275|RBOE WEAR (B = Ert)+ K52
S5_ 36| 212002|z=0%= WEAR (B =Bkt + K52
S5_ 37| 212003|# O WEAR (B =Bkt + 152
S5_ 38| 211166|3F0F WEAR (B = Ert)+ 152
= A 39| 2112562102 WEAR (BB L)+ 2R EE
















